atl1*CurMon:Entry$ atl1*CurMon {ErrorFlag==0} asym_atl1/ppm:pattern_number {ErrorFlag==0} asym_atl1

c 4 22000 Entries 40499
s - - i 400 —
§ T R U evilree . ] _ |
= " ' & — | - o Mean 1.245
> | - Entries 162105 mmn_;ﬁ e 5w % Lo U i
= 18000 | xx ¥k % § % T %5 5 % i -
@ : I U Y e 2 45 £k a0l StdDev 1593
16000 Mean 3.583 R _ i
- 5000 B h '1 Underflow 5276
25 14000 — B -
. B Std Dev  0.1058 - | B Overflow 5429
12000 L I 1 i 300 u u
10000~ g H H E ll H H H HH _
8000}~ - I -
N . 250 —
6000 -5000 — - Hﬁ
4000 B v vl i T vivatvrvrs 4 ot I
i . 2000 — 410000 — p : % Xx X y ]_EDI
AL A iR N Xl I - _
' l’-"_? 4 L -' :ﬁi'll':r'3 D_|||||_.|-"|'JJ|_|F"1L1||||||L4-“I"'T-—+_|_||||| ERENER EEE R A R TN AN T N NN AN M N SN TN NN SO AN N ':{'IUS R R R SN T S B B B B B AN R B B B B AN
' 150 ] 3 31 32 33 34 35 36 3.7 38 0 20 40 60 80 100 -3000 -2000 -1000 0 1000 2000 3000
Entry$ atl1*CurMon pattern_number ppm

run5958 000 at atl1.png



atl2*CurMon:Entry$ atl2*CurMon {ErrorFlag==0}

-

evilree

i 16000

Entries 162105

o0

atl2*CurMon

14000

Mean 6.56

12000

Std Dev  0.2473

10000

8000

6000

4000

2000

) bk | | g 1 | ettt S| | L | 4 :ﬁﬂi'lﬂ:3 0 | Tt T e ol |1
50 d 5 5.5 6 6.5 7

run5958 000 at atl2.png atl2*CurMon

20000

15000

10000

5000

-5000

10000

15000

20000

25000

asym_atl2/ppm:pattern_number {ErrorFlag==0}

-

- %

W 2 5 % )

T WK WM % MRHNE X

[ o xx o # S % 53 g

- | ®xET T - % * S S o

- gﬁ Lo xxxﬁﬁgn w3

IR o, 5 L % S W

- e B 5 oo W X

— s % oW wx

- % % %

- 3

1 | | | | | | | | L1
20 60 80 100

pattern_number

x10°

190

180

170

160

150

140

130

asym_atl2

-3000

- Entries 40499

[ Mean -14.65

B | [ Std Dev 1692

B 1 l Underflow 1.206e+04

B Overflow 1.212e+04

5 - “ [T

] ] ﬂ [ }

3 i

:I | I .| | L 11 1 | | I | | | I | | I | L 11 1
2000 —-1000 0 1000 2000 3000

ppm




atr1*CurMon:Entry$ atr1*CurMon {ErrorFlag==0} asym_atr1/ppm:pattern_number {ErrorFlag==0} asym_atr1

S 20000 - Entries 40499
E - E thTree - 380
3 18000 | L xx x % x - Mean 3.955
- - Entries 162105 10000 =, ., X X Kg%}{ N N oS 3601
& 16000 § sxfor B % T X i%gﬁ%iﬁx 340 Std Dev 1599
- Mean 5.6 - T 1177 -
14000~ 5000k 320 Underflow 5907
12000 Std Dev  0.1676 - 3001 Overflow 5831
10000 ol NEASICIA 280F Cl
- - 260
8000 - I TTTY C
- - 240
6000} —000~ | 220~
4000~ |4 -3 vl ivivivl betell N B | -
B (8 Sxxx . %}:g %ﬁ ix%}{%:ﬂ:ﬁ}{ 52 200
B R §§ S5 % §x}{>{§ > i
2000 10000, L XL 180 J
| [ = s |
:"C:‘IUS D_llmlllmlll II|III |1 _III|III|III|III|III|II'.:"":‘II:.'I:3 ‘IED__IIII|IIII|IIII|IIII|IIII|IIII
46 4.8 5 52 54 56 58 0 20 40 60 80 100 ~3000 -2000 -1000 O 1000 2000 3000
Entry$ atr1*CurMon pattern_number ppm

run5958 000 at atrl.png



atr2*CurMon:Entry$

w

atr2*CurMon
co

... B

run5958 000 at atr2.png

x10°

14000

12000

10000

8000

6000

4000

2000

atr2*CurMon {ErrorFlag==0}

evtlree
Entries 162105
Mean 3.706

otd Dev 0.1584

3.4

3.6 3.8

4 42 44
atr2*CurMon

40000 N
- % K
C X KX s p % 5%
30000 Tx % x T ey xR R L
20000 T
10000 — | |
10000 | | T |
20000 1
o Bl b 4 $xo T Bkexd L
30000 =L % L ¢ ® xxgxgg
- x * x 2 x
n x 3 54 5
- & x X
40000
- s
[ l l | l | 1 l l | l 1 l | l l 1 | l l
0 20 40 60 80 100

asym_atr2/ppm:pattern_number {ErrorFlag==0}

pattern_number

x10°

130

120

110

100}

90

goll

-3000

asym_atr2
- Entries 40499
: Mean -11.04
[ Std Dev 1707
i i
n Underflow 1.525e+04
B ml Overflow 1.534e+04
T

il 1

-2000 1000

0 1000 2000

3000

ppm




asym_atll

asym_atl2

asym_atrl

asym_atr2

rund958 000

asym_atll

0.01

0.005

-0.005

-0.01

asym_atl1l

0.02

0.015

0.01

0.005

0

-0.005

-0.01

-0.015

-0.02

-0.025

asym_atl1l

0.01

0.005

-0.005

-0.01

asym_atl1l

. 0.04
0.03
0.02

0.01

—-0.01
-0.02
-0.03

-0.04

asym

o~ | 35

—30(

—25(

—-0.01

—0.005

0 0.005 0.01

asym_atll

—35(

—30C

—25(

—-0.01

—0.005

0 0.005 0.01

asym_atl1

—35(

—30C

—25(

—-0.01

—0.005

0 0.005 0.01

asym_atll

—40(

—35(

—30C

DEH

d

f

-0. DIEI'E

mutua

D DIEI'E

asym_atl2

i —{35¢
0.01
i —{30¢
0.005 —{25¢
D_
-0.005
—0.01—
IIIIIlIIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|III D
~0.0250.020.015-0.0+-0.005 0 0.005 0.010.0150.02
asym_atl2
. a5
0.02F
0.015F oo
0.01F _|oe¢
0.005F
- 20(
0
-0.005F 15¢
—0.01F
- 10(
-0.015F
_p.02F 500
_D=ﬂ25:|-lllllllII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|III D
~0.0250.020.015-0.0+-0.005 0 0.005 0.010.0150.02
asym_atl2
i —{35¢
: [ |
0.01 )
- —{30¢
0.005 - —25¢
- 20(
- 15¢
-0.005- .
—0.01— >0
_IIIII|IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|III D
~0.0250.02.0.015-0.0+-0.005 0 0.005 0.010.0150.02
asym_atl2
| n.m;— _70c
0.03
- —{60¢
0.02
- —{50¢
0.01F
of- 40(
—D.ﬂ‘l:— a0c
-0.02
. 20¢
-0.03F
m 10(
N [ |
-n.m:— -

I ~correl

250.0¢-0gp15-0.0+-0.005

All101]-

COt7,

B |
0.01 —35(
- —30(
0.005
- —25(
oL 20(
| 15¢
-0.005~ Jot
I 50
-0.01 -
i || I | | || | | 1 || | | | || I | | || | | 1 | D
-0.01 -0.005 0 0.005 0.01
asym_atri
- —35¢
0.025
0.015F —lag¢
0.01F
- —25(
0.005F -
o ] 20(
-0.005F 15¢
~0.01F
- 10¢
-0.015F
- 50
—0.02F 0
: o
_ELGEE 11 I L1 1 1 | 1 1 1 1 | L1 1 1 I L1 1 1 | L 1 1 D
-0.01 -0.005 0 0.005 0.01
asym_atri
! a5
0.01
i —30(
0.005—
- —125(
- 20¢
D _
- 15(
_0.005
- 10¢
-0.01 50(
i 1 1 I 1 1 1 1 | 1 1 1 1 | 1 1 1 1 I 1 1 1 1 | 1 1 1 D
-0.01  -0.005 0 0.005 0.01
asym_atri
. 0.04F
. n —35(
0.03
- —30(
0.025
0.01F . B
= 20¢
~0.01F- 15¢
-0.02
- 10¢
-0.03F
- 50
N [
~0.04F
: 1 1 I 1 1 1 1 | 1 1 1 1 | 1 1 1 1 I 1 1 1 1 | 1 1 1 D
-0.01  -0.005 0 0.005 0.01
asym_atri

Z1..png

—40¢
0.01—
i —35¢
i —{30(
0.005
D_
-0.005
, 10¢
, 50
—0.01
_III|IIII|IIII|IIII|IIIIIIIIIlIIIIlIIIIlIIII|II D
—0.04-0.03-0.02-0.01 0 0.01 0.02 0.03 0.04
asym_atr2
0.02F —70¢
0.015F
- —B0(
0.01F
- —50(
0.005F
OF
~0.005F
~0.01F
-0.015F
—0.02
_D=ﬂ25_TII|IIII|IIII|IIII|IIIIIIIIIlIIIIlIIIIlIIII|II
—0.04-0.03-0.02-0.01 0 0.01 0.02 0.03 0.04
asym_atr2
I -
- —35¢
0.01
- —30¢
0.005—
= —25(
- 20(
D_
| 15(
-0.005 L
- 10¢
—0.01— J 50
_III|IIII|IIII|IIII|IIIIIIIIIlIIIIlIIIIlIIII|II D
—0.04-0.03-0.02-0.01 0 0.01 0.02 0.03 0.04
asym_atr2
y — —40(
. 0.04F
. - —35¢
0.03
- —30(
0.02F
EI.['H:— —{25(
ok 20¢
—0.01F
- 15¢
-0.02
- 10¢
-0.03F
- 50(
-n.m:— -
_III|IIII|IIII|IIII|IIIIIIIIIlIIIIlIIIIlIIII|II D

-0.04-0.03-0.02-0.01 0O

0.01 0.02 0.03 0.04
asym_atr2



asym_atll

asym_atl2

asym_atrl

asym_atr2

rund958 000 asym at mutua

asym_atll

12 [ ndf

p0

65.98 / 40

5.483e-08 £ 3.814e-07

asym_atl2

¥= / ndf 37.81/43
pO 1.418e05+ 1.275e05
p1 01777 = 0.0026
Cor factor 0.3698

-0.002[- { } {(‘& #ﬁ

-0.004 — | M

-0.006—

-0.008—

—-0.0250.02-0.015-0.0+0.005 0 0.005 0.010.015 0.02

p1 0.9997 + 0.0002
|:|_
-0.005 )
-0.01 =
_I 1 | | | | | | | 1 | | | | 1 | | | | |
-0.01 -0.005 0.005 0.01
¥2 | ndf £9.49 / 40
p0 ~3.358e—06 + 2 65405 J[ -
p1 07713+ 00111 }
Cor factor 0.3698 JFH J}H
D_
-0.005 }[ Jr ]l]lﬂﬂﬂ1r
—0.01
:II|IIII|IIII III|IIII|III
-0.01 -0.005 0.005 0.01
i w2 | ndf 41.92 40
0.006 p0 —4.807e-06 + 1.441e-05
: p1 —0.04537 + 0.00611
0.004
B k Cor factor ~-0.0413
0.002-
- } i _
T W* ]
-0.002 }
0.004
I|IIII|IIII III|IIII|III
-0.01 -0.005 0.005 0.01
¥2 | ndf A41.91 /40
p0 7 563606 + 4.457e-05 J[ _
p1 1.429 + 0.019 } }
Cor factor 0.4030 Jf#
= +
0.005F #
O
-0.005F
- Jr }
—0.01F _ Hﬂﬂﬂ*
-0.015F v‘H
—0.02
_I|IIII|IIII|IIII|IIII|III
0.005

I correl

asym_atl2

1=/ ndf 31.33743
pld  -1.596e-07 £ 7.338e-07

Pl 0.9954 = 0.0001

(WA BT ]

-0.005

-0.01

-0.015

-0.02

-0.004

Bk

asym_atr2
%% ¢ ndf 48.42 /39 k
pO 7.391e-06 + 1.252e05

il
p1 0.1123 + 0.0015 # ]
Cor factor 0.4030 ’r++ ## | }
_D.GGE;— R %ﬂ#ﬁ

-0.006

-0.04-0.03-0.02-0.01 0 0.01 0.02 0.03 0.04

asym_atr2

—-0.0250.02-0.015-0.0+0.005 0 0.005 0.010.015 0.02

asym_atl2

¥ ndf 46.5 /43
pO —£.816e—-06 + 1.441e-05

p1 0.004239 + 0.002913

Cor factor 0.0057

0.002|— \

-0.002—

-0.004—

—-0.0250.02-0.015-0.0+0.005 0 0.005 0.010.015 0.02

2 { ndf 41.5/43
p0 2 51305 + 2.283e-05
p1 1.508 + 0.005
Cor factor 0.8833
o

-0.01F

B =
-0.02 o

- Hw*
-0.03F + ““

N t

250.0¢-0gp15-0.0+-0.005

All101]-

fit

0.010.015 0.02

PIY

¥/ ndf

0.004— _ ¥ { ndf 46.68 / 38
0.003C pO0 1.356e-05 + 1.373e05
E p1 —0.03854 + 0.00553
0.002F
- Cor factor -0.0413
0.001 1 ]
- 1 H 1~
o [T HF it il
~0.001 }[
-0.0021
-0.003 {
:| 11 | 11 1 1 | 1 1 1 1 | 1 1 1 1 | 11 1 1 I L1 1 1
-0.01  -0.005 0.005  0.01
¥? { ndf 48.84 / 38
b0 ~6.547¢ 06 + 2.859 05
p1 0.00024%8 *+ 0.0116068 i
Cor factor 0.0057 }
0.002f - 1[1} Wt
S A LA
-0.002 ]
-0.004
-0.006
-0.008F
:| 11 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 I I_I 11
-0.01  -0.005 0.005  0.01
%2 / ndf 47.47 (38 =
p0  5.693e-07 £4.111e—07 =
p1 0.999 £ 0.000 3
D_
_0.005|-
001 &
[ I_I | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 I 1 1 1 1
-0.01  -0.005 0.005  0.01
D.UE:— ¥Z { ndf 45.77 1 38
- pO 1.097e-05 + 4.881e-05
0.015F
- p1 —0.1483 + 0.0197
0.01F ¢
- { Cor factor —-0.0406
0.005F H | t
-+ f ]L
[ - +
i } LY H
-0.005F [ u
-0.01F
-0.015F
_D‘GE__II 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 I I_I 1 1

-0.01  -0.005

0.005 0.01

pO

p1

Cor factor

60.03 /39

—-9.4/1e-06 + 1.338e-05

0.2189 = 0.0016

0.8833

LA L

-0.005

-0.01

-0.015

-0.02

1

—0.04-0.03-0.02 -0.01

asym_atr2

0.004

0.003

0.002

0.001

-0.001

-0.002

-0.003

0.01 0.02 0.03 0.04

¥2 { ndf 4777139
p0 —5.616e—06 + 1.4382-05
p1 —0.01108 + 0.00168

Cor factor -0.0406

—-0.04-0.03-0.02 -0.01

asym_atr2

0.04

0.03

0.02

0.01

-0.01

-0.02

-0.03

-0.04

0.01 0.02 0.03 0.04

htemp

Entries 40499

Mean 3.727e-05

Meany 3.727e-05

Std Dev  0.009602

Std Dev y 0.009602

—-0.04-0.03-0.02 -0.01

0.01 0.02 0.03 0.04



asym_atll

asym_atl2

asym_atrl

asym_atr2

rund958 000

asym_atll

0.01

0.005

-0.005

-0.01

asym_atl1l

0.02

0.015

0.01

0.005

-0.005

-0.01

-0.015

-0.02

-0.025

asym_atl1l

0.01

0.005

-0.005

-0.01

asym_atl1l

. 0.04
0.03
0.02

0.01

—-0.01
-0.02
-0.03

-0.04

asym

asf.r m_atl

asym_atl1

asym_atll

at mutualg“ correl

asym_atl2

0.01—

0.005—

-0.005—

-0.01—

-0.025-0.020.015-0.0+0.005 0 0.005 0.010.015 0.02
asym_atl2

asym_atl2

0.02

0.015

0.01

0.005

-0.005

-0.01

-0.015

-0.02

=
IIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III

A S

_D=ﬂ25:|-lllllllIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-0.0250.02-0.015-0.0+0.005 0 0.0050.010.015 0.02
asym_atl?

asym_atl2

0.01—

0.005

-0.005—

-0.01—

-0.0250.020.015-0.0+0.005 0 0.005 0.010.015 0.02
asym_atl2

asym_atl2

. 0.04
0.03
0.02

0.01

-0.01
-0.02

-0.03

-0.04

=
II|IIII|IIII|IIIIIIIII|IIII|IIII|IIII|IIII|II

250.02-0gp15-0.0+0.005 0 0.005 0.010.015 0.02

ation-scat:png

asym_atrl

0.01

0.005

-0.005

-0.01

0.01

0.005

-0.005

-0.01

-0.015

-0.02

-0.025

0.01

0.005

-0.005

-0.01

-0.01  -D0.005 0 0.005 0.01
asym_atri

—0.01 -0.005 0 0.005 0.01
asym_atri

-0.01  -D0.005 0 0.005 0.01
asym_atri

asym_atrl

. 0.04
0.03
0.02

0.01

—-0.01
-0.02
-0.03

-0.04

-0.01  -D0.005 0 0.005 0.01
asym_atri

asym_atr2

0.01—

0.005—

-0.005—

-0.01—

-0.04-0.03-0.02-0.01 0 0.01 0.02 0.03 0.04
asym_atr2

asym_atr2

0.02

0.015

0.01

0.005

-0.005

-0.01

-0.015

-0.02

-0.025

-0.04-003-0.02-0.01 0 0.01 0.02 0.03 0.04
asym_atr2

asym_atr2

0.01—

0.005

-0.005—

-0.01—

-0.04-0.03-0.02-0.01 0 0.01 0.02 0.03 0.04
asym_atr2

asym_atr2

. 0.04

0.03

0.02

0.01

-0.01

-0.02

-0.03

-0.04

=
T TT TTTT TTTT TTTT TTTT TTTT TTTT TTTT TTTT T
I I I I I I I I I

-0.04-0.03-0.02-0.01 0 0.01 0.02 0.03 0.04
asym_atr2




